Physics 11 equation shedt

KINEMATICS
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FORCES

Fe = kx F¢ = uFn

MOMENTUM
p=mv Ap = mAv = FAt
ENERGY WORK AND POWER
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CONSTANTS

g=9.8m/s G =6.67 x 10 " Nm¥kg?

1kWh=3.6x10°J c=3.00x10%m/s
me=5.98 x 10 * kg re=6.38x10°m
1 amu =934 MeV

Indices of Refradion:

Fy=mg
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total input
V=A
T

1=1+1 M=-di=hi
f di do

do ho

m=__mo

| 1-v?/¢?

Croo = 4200 J/kg ‘K
1eV=160x10""J

1amu=1.66x10"%kg

Medium n Medium n
Vaaum 1.0000 Have Crown glass 152
Air 1.0003 a Quartz 154
Water 1.33 nice Flint glass 161
ethanol 1.36 day Diamond 242




